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QUESTION 1

In SAS BIDashboard, which indicator property cannot be set when defining an indicator? 

A. Display settings 

B. Zoom percentage 

C. Height and width 

D. Display type 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

Which type of content is Certification Exam.srx? 

A. SAS report 

B. stored process 

C. SAS package 

D. data exploration 

Correct Answer: A 

 

QUESTION 3

A user requests a new report that the developer has several shared prompt groups available to incorporate. However,
the user does not want the prompts separatedor know what group the prompts belong to? 

Which features of the prompting framework should the developer use? 

A. Unified Groups 
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B. Selection Groups 

C. Transparent Groups 

D. Standard Groups 

Correct Answer: B 

 

QUESTION 4

A SAS Information Map is based on multiple relational tables. 

Which statement is true regarding joins between them? 

A. The default join created is a full outer join. 

B. The default join is an inner join. 

C. A Cartesian product is created by default. 

D. Join conditions once created cannot be modified in an information map. 

Correct Answer: B 

 

QUESTION 5

Which SAS applications can be used to create data sources for reporting and analysis using the SAS platform
applications? (Choose two.) 

A. SAS Enterprise Guide 

B. SAS Information Delivery Portal 

C. SAS Information Map Studio 

D. SAS Web Report Studio 

Correct Answer: AC 
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